1. An investment opportunity has several outcomes as shown in the table below. The amounts are in dollars.  The probability for each amount is given on the second line.

k                -30     -10     100

P(X = k)    .60     .10     .30

a. If you try this opportunity only once, what is the probability you will lose money? 

b. If this opportunity was attempted twice, what is the probability that you would earn a positive amount on both attempts?  

c. Find the expected value (i.e., the mean) of X. Include units. Show work above. 

d. Is this investment opportunity a fair game? Yes or No.  

e. Calculate the standard deviation. Include units. Show work above.  

2. Use the binomial distribution equation to calculate the probability of having exactly

three successes in five trials if the probability of success on any one trial is 0.25.

Give your answer to four decimal places. Show your work.  

